1) WERAI— V2 —FoP

(B4 : M. km)

X fiH B FFEAFN =aHF INEF XA b |
BEEHEBESE 250 2, 550 2, 050 1, 150 1, 600
ERE 300 3, 150 2, 550 1, 400 1, 950
iickd 5. 0 118. 2 92. 4 47. 8 69. 3
2) ABRY—hM VB —FzzP (BSsr - [, km)
X ;A 28 ES T = 2RE =+
BEHEESE 250 250 3, 700 1, 050 2, 200 3, 450
LTRE 250 250 4, 600 1, 300 2, 700 4, 300
HEYEs 300 300 5, 450 1, 500 3, 200 5, 150
AEIE 350 350 7, 450 2, 000 4, 300 7, 000
HAE 450 500 2, 300 3, 250 7, 100| 11, 550
FizE 4. 2 4. 5 194. 9 43. 8 97. 7 180. 7
3) ErRI—bAVB—FzD (BAfSL : M. km)
X ®iRA 3]l = =/ BHE £2HE
EHEgESE 300 250 1, 600 1, 550 2, 500 4, 400
TRE 350 250 1, 950 1, 900 3, 100 5 500
RAYEE 400 300 2, 300 2, 250 3, 700 6, 550
KEE 500 350 3, 100 3, 050 5, 000 8, 950
HAE 700 450 5, 100 4, 950 8, 250 | 14, 800
ick3 7. 8 4. 4 69. 4 67. 5 118. 1 244. 3




